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L= 79.05m
i=5.30%;

KMp= 41+101.40; Hp= 65.46;
KMk= 41+180.452; Hk= 69.65

Krzywa wklęsła
R= 1500.000m; L= 62.841m;

i wej.= 1.10%; i wyj.= 5.30%; Δi= 4.20%;
Hp= 63.450; KMp= 41+038.56
Hk= 65.459; KMk= 41+101.40

Krzywa wypukła
R= 2750.000m; L= 159.206m;

i wej.= 5.30%; i wyj.= -0.50%; Δi= -5.80%;
Hp= 69.646; KMp= 41+180.45
Hk= 73.461; KMk= 41+339.66

L= 60.34m
i=-0.50%;

KMp= 41+339.66; Hp= 73.46;
KMk= 41+400.000; Hk= 73.16

L= 20.00m
i=-0.24%;

KMp= 41+400.00; Hp= 73.16;
KMk= 41+419.999; Hk= 73.11

L= 15.00m
i=0.54%;

KMp= 40+966.00; Hp= 62.74;
KMk= 40+981.000; Hk= 62.82

L= 57.56m
i=1.10%;

KMp= 40+981.00; Hp= 62.82;
KMk= 41+038.558; Hk= 63.45

L= 66.00m;
KMp= 40+900.00; KMk= 40+966.00
Xp= 5689961.18; Yp= 3592363.10
Xk= 5689897.50; Yk= 3592380.43

Prosta

L= 11.00m;
KMp= 40+966.00; KMk= 40+977.00
Xp= 5689897.50; Yp= 3592380.43
Xk= 5689886.88; Yk= 3592383.32

Prosta
KRZYWA POZIOMA

A= 57.97
L= 42.00m

Xp= 5689886.88; Yp= 3592383.32
Xk= 5689845.68; Yk= 3592390.75

Łuk poziomy
R= 80.00m; L= 9.57m; Δ= 6.8552;

Styczna (T): 4.79m
Xp= 5689845.68 ;Yp= 3592390.75;
Xśr= 5689845.42; Yśr= 3592310.75

Xk= 5689836.12;Yk= 3592390.21

KRZYWA POZIOMA
A= 57.97

L= 42.00m
Xp= 5689836.12; Yp= 3592390.21
Xk= 5689796.02; Yk= 3592378.18

L= 0.65m;
KMp= 41+070.58; KMk= 41+071.22
Xp= 5689796.02; Yp= 3592378.18
Xk= 5689795.42; Yk= 3592377.94

Prosta

Łuk poziomy
R= 520.00m; L= 138.21m; Δ= 15.2287;

Styczna (T): 69.52m
Xp= 5689795.42 ;Yp= 3592377.94;
Xśr= 5689603.07; Yśr= 3592861.06
Xk= 5689661.76;Yk= 3592344.38

L= 210.56m;
KMp= 41+209.43; KMk= 41+420.00
Xp= 5689661.76; Yp= 3592344.38
Xk= 5689452.54; Yk= 3592320.61

Prosta
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40+900 41+000 41+100 41+200 41+300 41+400 41+420
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Krzywa wklęsła
R= 1500.000m; L= 62.841m;

i wej.= 1.10%; i wyj.= 5.30%; Δi= 4.20%;
Hp= 63.450; KMp= 41+038.56
Hk= 65.459; KMk= 41+101.40

Krzywa wypukła
R= 2750.000m; L= 159.206m;

i wej.= 5.30%; i wyj.= -0.50%; Δi= -5.80%;
Hp= 69.646; KMp= 41+180.45
Hk= 73.461; KMk= 41+339.66
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km: 40+990.00; R= 61.78
km: 41+000.00; R= 61.83

km: 41+020.00; R= 61.93
km: 41+028.00; R= 61.97

km: 41+067.00; R= 62.88

km: 41+080.00; R= 63.33

km: 41+150.00; R= 66.88

km: 41+335.00; R= 72.31

km: 41+351.00; R= 72.53

km: 41+400.00; R= 72.29
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km: 41+179.94; R= 68.47

km: 41+328.61; R= 72.32

km: 40+984.00; R= 61.72

km: 41+019.01; R= 62.77 km: 41+028.00; R= 62.87 km: 41+070.00; R= 63.14

km: 41+149.00; R= 66.99

km: 41+199.48; R= 69.59

km: 41+332.47; R= 72.68

km: 41+400.00; R= 72.34
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65-034 Zielona Góra, ul.Boh. Westerplatte 11

68 47 84 500,  fax: 68 47 84 502

e-mail: promost@promost.zgora.pl

NIP: 929-009-43-90

UMOWA nr ZDW-ZG-WD-85/2013 z dn. 12.04.2013r.           nr rej. 03/13 DATA:  czerwiec 2017 r.

PROJEKTANT

imię i nazwisko: uprawnienia: data i podpis:

nr rys.

06.2017 r.

BR. DROGOWEJ:

mgr inż. Jacek Hejduk

SPRAWDZAJĄCY

mgr inż. Piotr Sawiak

BR. DROGOWĄ:

06.2017 r.

specj. drogowej

upr. bud. nr 02/05/ZG

specj. drogowej

upr. bud. nr 15/04/ZG


